12 A

= N 7K 7\ E T | B

B | 9:00~12:30 | 9:00~12:30 | 9:00~12:30 | 9:00~12:30 | 9:00~12 : 30

1% [ 17:00~19: 00 16 : 00~19 : 00
1 2 3 4 b 6
e = A< O
T BN | AE | FERX

Tig

I 8 9 12 | 13

1
| A | HFD | D | HRE

sl 1=

14 15 16 17

a1l A | FA | HFE | FAX

Fra| 1\E

21 22 23 24 26 | 27

| A | HFD | HFE | HRE

ZN
ZN
ZN
ZN
ZN
ZN
ZN
ZN

S| S| S| S| S| S| S| A

sl 1=

28 29 30 31 1/1 1/2 | 1/3

Fal| AR

B R FUB IR A

12/29(K) ~1/3(H) ETHERFIBARATT .
174(A) FYBEBZEWNZLET,

ERBEAEERR PRIDICo<ERHR
TELO6-6417-4125




